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f(r, θ) = f(r) = C/r

⇒ (normalization) 1 =

∫
C

f(r)2πrdr = 2πCR

⇒ f(r) =
1

2πrR





0 =

∫
{x}

∂p(x, θ)

∂θ
dx =

∫
{x}

1

p(x, θ)

∂p(x, θ)

∂θ
p(x, θ)dx

=

∫
{x}

∂ ln p(x, θ)

∂θ
p(x, θ)dx

= E

[
∂ ln p(x, θ)

∂θ

]

∫
{x}

p(x, θ)dx = 1

∂

∂θ

∫
{x}

p(x, θ)dx =

∫
{x}

∂p(x, θ)

∂θ
dx = 0



∫
{x}

∂ ln p(x, θ)

∂θ
p(x, θ)dx = 0

0 =
∂

∂θ

∫
{x}

∂ ln p(x, θ)

∂θ
p(x, θ)dx =

∫
{x}

[
∂2 ln p(x, θ)

∂θ2
p(x, θ) +

∂ ln p(x, θ)

∂θ

∂p(x, θ)

∂θ

]
dx

=

∫
{x}

[
∂2 ln p(x, θ)

∂θ2
+

1

p(x, θ)

∂ ln p(x, θ)

∂θ

∂p(x, θ)

∂θ

]
p(x, θ)dx

=

∫
{x}

{
∂2 ln p(x, θ)

∂θ2
+

[
∂ ln p(x, θ)

∂θ

]2}
p(x, θ)dx

= E

[
∂2 ln p(x, θ)

∂θ2

]
+E

[(
∂ ln p(x, θ)

∂θ

)2
]



var

[
∂ lnL(x, θ)

∂θ

]
= E

[(
∂ lnL(x, θ)

∂θ

)2
]
= −E

∂2 lnL(x, θ)

∂θ2

E[θ̂(D)] =

∫
{x}

θ̂(x)L(x, θ)dx = θ + bn

∂

∂θ
E[θ̂(D)] = 1 +

∂bn
∂θ

=

∫
{x}

θ̂(x)
∂L(x, θ)

∂θ
dx =

∫
{x}

θ̂(x)
∂ lnL(x, θ)

∂θ
L(x, θ)dx

= E

[
θ̂(D)

∂ lnL(D, θ)

∂θ

]
= cov

[
θ̂(D),

∂ lnL(D, θ)

∂θ

]
+E

[
θ̂(D)

]
E

[
∂ lnL(D, θ)

∂θ

]

= cov

[
θ̂(D),

∂ lnL(D, θ)

∂θ

]



[cov(x, y)]2 ≤ σ2
xσ

2
y

var[θ̂(D)] ≥
(
1 + ∂bn

∂θ

)2
var

[
∂ lnL(D,θ)

∂θ

] =

(
1 + ∂bn

∂θ

)2
E

[(
∂ lnL(D,θ)

∂θ

)2
] =

(
1 + ∂bn

∂θ

)2
−E∂2 lnL(D,θ)

∂θ2

1 +
∂bn
∂θ

= cov

[
θ̂(D),

∂ lnL(D, θ)

∂θ

]

(
1 +

∂bn
∂θ

)2

=

{
cov

[
θ̂(D),

∂ lnL(D, θ)

∂θ

]}2

≤ var[θ̂(D)]var

[
∂ lnL(D, θ)

∂θ

]



I(θ) = E

[(
∂ ln p(x, θ)

∂θ

)2
]
= −E

∂2 ln p(x, θ)

∂θ2



 
Ω = N!

N1!N2 !…NM !

SB = kB lnΩ = kB ln
N !

N1!N2! . . . NM !
≈

[
(N lnN −N)−

∑
i

(Ni lnNi −Ni)

]

= kB

[
N lnN −

∑
i

Npi(ln pi + lnN)

]
= kBN

∑
i

pi ln
1

pi



SB = kBN
∑
i

pi ln
1

pi

SI =
∑
i

pi log2
1

pi



SI = −2

(
1

2
log2

1

2

)
= 1 bit



SI = −1

4
log2

1

4
− 3

4
log2

3

4
≈ 0.81 bit

SI = −
8∑
1

1

8
log2

1

8
= log2 8 = 3 bit



p(j, k) = p1(j)p2(k)

S = −
∑
j,k

p(j, k) log2 p(j, k) = −
∑
j,k

p1(j)p2(k) log2[p1(j)p2(k)]

= −
∑
j

p1(j) log2 p1(j)−
∑
k

p2(k) log2 p2(k)

= S1 + S2



S + λ

N∑
k=1

pk = −
N∑

k=1

pk log2 pk + λ

N∑
k=1

pk

= − 1

ln 2

N∑
k=1

pk ln pk + λ
N∑

k=1

pk

∂

∂pj
(S + λ

N∑
k=1

pk) = − 1

ln 2
(ln pj + 1) + λ = 0

pj = exp(λ ln 2− 1) = 1/N



S =

∫ +∞

−∞
p(x)dx log2

1

p(x)dx



Ω =
N !

N1!N2! . . . NM !
gN1
1 gN2

2 . . . gNM

M

lnΩ = lnN !−
M∑
k=1

lnNk! +

M∑
k=1

Nk ln gk

= −N

M∑
k=1

(Nk/N) ln
(Nk/N)

gk

= −N
M∑
k=1

pk ln
pk
gk

IKL =

M∑
k=1

pk ln
pk
gk



IKL + λ
∑
k

pk

pk = gke
λ−1 = gk



IKL =

M∑
k=1

pk ln
pk
gk

=
M∑
k=1

pk ln
1

gk
−

M∑
k=1

pk ln
1

pk



IKL =
∑
k

pk ln
pk
gk

→
∫ +∞

−∞
p(x)dx ln

p(x)dx

g(x)dx

=

∫ +∞

−∞
p(x) ln

p(x)

g(x)
dx



φ(t) = t ln t

φ(t) = φ(1) + φ′(1)(t− 1) +
1

2
φ′′(h)(t− 1)2 = (t− 1) +

1

2h
(t− 1)2

t < h < 1

IKL =

∫ +∞

−∞
p(x) ln

p(x)

g(x)
dx = −

∫ +∞

−∞

p(x)

g(x)
ln

p(x)

g(x)
g(x)dx =

∫ +∞

−∞
φ

(
p(x)

g(x)

)
g(x)dx

=

∫ +∞

−∞

[(
p(x)

g(x)
− 1

)
+

1

2h

(
p(x)

g(x)
− 1

)2
]
g(x)dx =

∫ +∞

−∞

1

2h

(
p(x)

g(x)
− 1

)2

g(x)dx

=

∫ +∞

−∞

1

2h

(p(x)− g(x))
2

g(x)
dx ≥ 0



IKL(p, q) =

∫ +∞

−∞
p(x) ln

p(x)

q(x)
dx

p(x) =
1√
2πσ2

exp

(
− x2

2σ2

)

q(x) =
1√
2πσ2

exp

(
− (x− μ)2

2σ2

) IKL(p, q) =
μ2

2σ2



IKL (p(x, θ), p(x, θ + ε)) =

∫ +∞

−∞
p(x, θ) ln

p(x, θ)

p(x, θ + ε)
dx

= E (ln p(x, θ)− ln p(x, θ + ε))

IKL (p(x, θ), p(x, θ + ε)) = −E

(
∂ ln p(x, θ)

∂θ
ε+

1

2

∂2 ln p(x, θ)

∂θ2
ε2
)

= −1

2
E

[
∂2 ln p(x, θ)

∂θ2

]
ε2 =

1

2
I(θ)ε2

ln p(x, θ + ε) ≈ ln p(x, θ) +
∂ ln p(x, θ)

∂θ
ε+

1

2

∂2 ln p(x, θ)

∂θ2
ε2



IJ(p, q) =
1

2
IKL(p, q) +

1

2
IKL(q, p)

IJS(p, q) =
1

2
IKL

(
p,

p+ q

2

)
+

1

2
IKL

(
q,

p+ q

2

)





∫ +∞

−∞
py(y) ln

(
py(y)

qy(y)

)
dy =

∫ +∞

−∞
px(x) ln

⎛
⎜⎜⎝
px(x)

∣∣∣∣dxdy
∣∣∣∣

qx(x)

∣∣∣∣dxdy
∣∣∣∣

⎞
⎟⎟⎠ dx

=

∫ +∞

−∞
px(x) ln

(
px(x)

qx(x)

)
dx



IKL (p(x|θ), p(x|θ + ε)) = −1

2
E

[
∂2 ln p(x|θ)

∂θ2

]
ε2 =

1

2
I(θ)ε2



lnL(D|μ) ∼
∑
n

(
− lnσ − (xn − μ)2

2σ2

)



L(D|μ) =
∏
n

1√
2πσ2

exp

(
− (xn − μ)2

2σ2

)



I(a) = E

[
−∂2 lnL(D|a)

∂a2

]
∼ 1

a

√
I(a) ∼ 1√

a

L(D|a) =
∏
n

akn

kn!
e−a



L(D|θ) =
(
N

n

)
θn(1− θ)N−n

lnL(D|θ) ∼ n ln θ + (N − n) ln(1− θ)

E

[
−∂2 lnL(D|θ)

∂θ2

]
∼ Nθ

θ2
+

N −Nθ

(1− θ)2

=
N

θ
+

N

1− θ

=
N

θ(1− θ)



I(θ) ∼ 1

θ(1− θ)√
I(θ) ∼ θ1/2(1− θ)1/2

B(1/2, 1/2)

θ







IKL =

∫
Θ

p(θ|t) ln p(θ|t)
p(θ)

dθ

E [IKL]t =

∫
T

p(t)

∫
Θ

p(θ|t) ln p(θ|t)
p(θ)

dθ dt

=

∫
T

∫
Θ

p(θ|t)p(t) ln p(θ|t)p(t)
p(θ)p(t)

dθ dt

=

∫
T

∫
Θ

p(θ, t) ln
p(θ, t)

p(θ)p(t)
dθ dt



∫
T

∫
Θ

p(θ, t) ln
p(θ, t)

p(θ)p(t)
dθ dt


